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Note : Section ‘A’ is Objective type and is compulsory. It
should be written on the first page of Answer-
book. Section ‘B’ is Short answer type and Section
‘C’ is Long answer type.

©|ug ‘31’ (Section ‘A’)
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(Multiple Choice Questions)
el W FH— 1x10=10
Choose the correct answer :
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Thy;did hormones belongs to which class’

of hormone :
(a) Steroids (b) Protein
(c) Polypeptides
(d) Amino acid derivatives.
(i) = AMP fg TIH & gra fswa Siar 8—
(37) WERSS (9) FIERISEURE
(®) TfeTsa HETi (J) T |
Cyclic AMP inactivated by enzyme :
{(a) Phosphatase (b) Phosphodiesterase
(c) Adenyle cyclase (d) Phospholipase.
(iii) JOOT IAGH Hdl §—

(31) 1Y () sl

(@) (3) sy
" Testis produce :

(@) Sperm (b) Egg

(c) Seed (d) Spores.

(iv) iR SfEt s fator 2 a—

(37) YERUEFAH  (F) SUSTIA |
(@) Fo=m 4 (7) fogem |
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Polar bodies are formed during :

(@) Spermatogenesis (b} Oogenesis

(c) Fertilization (d) Cleavage.
(v) T 8§ o a1 e—

(37) 37T T (&) -

(9) @agt & ol (F) 3G Hi |

Which of the following is vestigeal organ :

(a) Wisdom tooth (b) Nail

(c) Scalp hair (d) All the above.
(vi) TTH O TIY U=l I HH-| —

(21) HHSEsh (F) HiESes

(W) Uefdrsiesh (3) Hiehfiord |

Which one is earliest era :

(a) Cenozoic (b) Mesozoic
(c) Poleozoic (d) Precambrian.
(vii) SR-9R 91 FRaX s w1 gfafsan | et &
e Sl 6—
(1) T (F) STFIe

() giqadar (T) AL |

The decrease in response to repeated or

continuous stimulation is called :

G-57-20 P.T.O.



[ 4]
(a) Drive (b) Taxis
(c) Maturation (d) Habituation.

(vm)wmésww-—q@aqfwm%wm
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Animal move from less desirable location to

a more desirable location by means of :
(a) Biological clock (b) Circadian clock

(c) Kinasis and taxis (d) Courtship display
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Which set is benificial insect to man :
(a) Honeybee, lac insect, cochneal insect
(b) Silk worm, honey bee, wasp
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(c) Honeybee, silkworm, cockroach

(D) Sand fly, butterfly, honey bee.
(x) T He & AT BT Fd e—

(&) AftEweer CORILIETCT

() TR (7) Bishe= |

Domastication of silkworm is called :

(a) Sericulture (b) Pisciculture

(c) Apiculture (d) Horticulture.
wue ‘g’ (Section ‘B’)

oY AT g9 5x3=15
(Short Answer Type Questions)

Hre—a+ft urw yed e €1

Note : All the’ Jive questions are compulsory.
1. BREA o o4 g 0 fafen
Write three main characteristics of hormones.
HAYAT / Or
A R dfarq feooft fafen |
Write a short note on Renin.
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2. Wiy feorsft fefey (5 ) —
(37) grEgTE (F) TRI = |
Write a short note on (any one) :
(a) Lactation (b) Estrous cycle.
3. dfer feorolt fafem (#E ww)—
(37) fowma & S TgEfTh! & wH |
(&) sgfeh =T o6 7o |
Write a short note on (any one) :
(a) Evidences of evolution from Biochemical
(b) Characters of Modern horse.
4. Wy feorol fafen (1 wem)—
(W () HIET |
Write a short note on (any one) :

(a) Drive (b) Pheromones.

5. gftra feoqot fafae (+E ) —
(37) Bfem goq () T ALHFET |
Write a short note on (any one) :

(a) Hatching happa (b) Queen honey bee.
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Tug 'E' (Section ‘C’)
gt T 99T 5x5=25
(Long Answer Type Questions)
Tre—asft dter gea Afard €
Note : All the five questions are compulsory.

1. fAUEE SRAM & S HYAS0 o1 90 Hifsy |

Describe the biosynthesis of thyroid hormones.
HYE / Or
ufee FTE o erd & fawnl &1 aviA Fifse

Describe the disorder of Adrenal corticoid

hormones.
2. MG ¥ I UM I |
Describe the menstrual cycle.
ATl / Or

YHTOS T $Hh A o a0 oh1 HHEATET |

Explain the spermatogenesis and its hormonal

regulation.

3. fafiy=raet o feoon fafen)
Write notes on variations.
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) A / Or
BUERE IR E N
Explain the Darwinism.
4. T HATR Fl YHART |
Explain the Taxis behaviour.
AYET / Or
TRAM Tdl 78R W fewoft fafey |
Write a note on hormones and behaviour.
5. W= W Sifaw fraero w femoft fafey |
Write a note on biological pest control.
Y41 / Or
TR ITeT & Y Tty w7 i i |
Describe the modern method of Apiculture.
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